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@D 5x5x5=125(cm?)
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® 12x3x 2.5 =90(cm?)
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@ : 6x6x5=180(cm?)
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[ ]x3%x6=180cm?

[ ]=180+18

[ ]=10(cm)
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=358 — (12X 7) X 2
358 — 168 = 190( cm?)
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(FHel) = (BHel) - (E4o]) x2
= 2100 — (20 X 30) X 2
= 2100 — 1200 = 900( cm?)
(BHe] =) x (=°l)
(F4el) + (2H9 =4)
900 + (20 + 30 + 20 + 30)
900 <+ 100 = 9( cm)
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52mL = 52 cm?

2] Hul: 12x4x9 = 432(cm?)
ES &7 389 H1l: 12x4x 6 = 288(cm?)
5520 5 20| Bl 988 — 52 = 236( cm?)
Aok & IR0 Fol: 432 — 236 = 196( cm?)
wrebA (9] F1])= 196( cm?)
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(FH)=(I=)x(A2) x (&°]) o|22

80 = 5x (MI&) x4,

(M2)= 4(cm)
(BHol)=(5x4)x2+ (5x4) X2+ (4x4) x2
=40+ 40 + 32 = 112(cm?)




